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b = 2277 RPM

motor,

Mt, =13.65N.m

ty, = 3,95

iEl«_ = 3,33

e, =—

iy, = 24

F... = 094

I'?m =0,97

8 = 139" = 2,426 rad

ovil,

0,25

FI Ll = -

Oevtly,;,,, = 0,0638m
@ =63°

@, =0,0364m

je

Ko =2

wol

N
Qpe1 = 3,237 -

C,oeq — 0,261 m

bl
0, =0,085m
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70% $ Mt ' Mt Mt -

Mt, =Mt Xi; X B, = 13,65 X 3,95X 0,94 = 50,682 N.m

Mt, = Mt, X i, X[, =50682X333x%097=163709N.m

Mt, = Mty X iz X[, =163,709X 2,4 X 097 = 381,115 N.m

0% $ @# 0O # 970
? A F’cvtl}_1' Fevtl_ ' chl}_1' Fpcl, ' chz}_1' Fpcl, B-
70 @ A —+  B-
Mt; X2  13,65X2
Ti,,,, = 2 = = 4279 N
© Ocvtly. 00638
o Tl,.,, 4279
T2pe1, = o(Bovel xpovel,) | G(2226x028) 233,315 N
|I - -
Fevtl, = N Tloper, 2+ T2eper, "+ 2X Ty X T2, X [cosB,, |

Fevtl, = /427,92 + 233,3152 4+ 2 % 427,9 x 233,315 X |cos 139°| = 623,079 N
Fn:.'t}tly1 = Fertl, Xsing = 623,079 X 5in63° =555,167 N
chtlzl = Fevtl, X cosp = 623,079 X cos63°=282,872N

@ -

2X Mt 2 X 50,682
0 00,0364

Tpcl, = = 2784725 N

Pa

Fpcly = Tpecly +2 X Ko, g X quoq X Cpeq = 2784725 +2 X 2 X 3,237 X 0,264
Fpcl, = 2788,144 N
Fpcl, = Fpcl, Xsina = 2788144 X sin42°= 1865,632 N
chlq =Fpcl, Xcosa = 2788144 X cos42°= 2071,994 N
@ -

2 X Mt; 2 X 163,709
Tpc2, = L = = 3851976 N
0, 0,085

Fpe2y = Tpc2y + 2 X K0, X o X Cpopy = 3851,976 + 2 X 4 X 5,886 X 0,427



Fpc2, = Fpe2, = 3872,083 N
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Goror, = 2600 RPM

Mt, =1375N.m

iy, = 1,62
{2, = 3,33
Laz, — —
Iy =24
7@% $

Mty,' Mty Mt, -

Mt, =Mt ¥i, Xf  =1375xX1,A2%¥ 0,94 = 2094 N.m
1ag 1, ol

Mty =Mty X i X, =2094X 333X 097 = 67,63 N.m

Mt, =Mt; Xiy X[, =6763X24X097=15745N.m
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b = 2850 RPM

moetory

Mt, =13,65N.m

iy, = 1,2
iy, = 3,33
iz = 3,38
3, = 2,4
B.,. = 0,94
B,. = 0,97
Bover, = 173°=3,02 rad
vz, = 147° = 2,566 rad
i, = 0,25
Bevtlyy,, =0168m
@, =0,0364m
Ko,,, =2
N
Gper = 3,237 —
Cper — 0,264 m
@, =0,085m
Ko, ,=4
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Mty =Mt Xi, XB_.=13,65X12x0,94=154N.m

vt

Mty =Mt, Xiy Xf, =154 X3,33X097 =49744 N.m

Mt, =Mty X i; X[, =49,744X 2,4 X 0,97 = 115,803 N.m

0% $ @# 0O # 970
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Mt X2 13,652
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|
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Fevtl,; = /162,52 + 76,3772 + 2 X 162,5 X 76,377 X |cos173°| = 238,489 N
FCUtl}.E = Fevtl; X sing = 238,489 X sin63° =212,495 N
Fevtl, = Fevtl; X cos = 238,489 X cos63° =108.27N

@ -

2XMt, 2x154
L) 0,0364

Tpcl; = = 846,154 N
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Fpely =Tpely + 2X Ko, X @poq X Oy = 846,154 +2 X2 X 3,237 X 0,264
Fpcly = 84957 N
Fpel, = Fpcl; X sine = 849,57 X 5in42°= 568,475 N

Fpcl, = Fpcl; X cosa = 849,57 X cos42°= 631,35 N
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Q $ @8 $ $$ jiG3' 3
'o@# ' 0. -
g, =470 MPa

=09Xg,=09X745 =670,5 MPa

T,=05xg, =470x 0,5 =235 MPa

C,= 06
C,= 0,85
CT; =2,06
CT.=3
o, X CT; 470 % 2,06
a; = = = 2,83
g, XCyX €, 670,5%0,85x%0,6
T, X CT, 235 X3
@, = = = 2,06
g XCy X C;, 6705 X0,85X0,6
"$5 #9$ $ @8 )$ |
J_
Q# -
Q# "H#S$ 7 .. G'33 '
$ +, @ .0 $ Q# #
9 )$ $5 # ( !
g. X CT 470 X 1,00
apy =—— T = =137
g X Cg X C;,  670,5% 0,85 X 0,6
15 x 1072
=" = 0,0075 m

Meg(est); =/ (71,251x 1,37)2 4+ 0,75 X (50,682 X 2,06)% = 133,06 N.m

T X% 0,0075*%

I, = 2 = 2,485 %X 107° m*
g, 133,06 % 0,0075

= = 401,58 MPa
FS,  2485x107°
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FS,, = 20158 1,2
@# -
# % ! 2L -
25 x 1073
Cynn = — = 0,0125 m

Meq(est),;, =+ (131,65 X 2,83)2+ 0,75 X (163,709 X 2,06)? = 473,4 N.m

T X 0,0125* e s

Iy =————— =192Xx107°m
o, _ 473,4%0,0125

= —— = 308,2 MPa

FSya — 1,92x1078
FSm =00 1 52
i 308,2 — s
# ¢ ! 23-

20 x 107°

cus =———— = 001m

Meq(est) s =+ (68,117 X 2,83)2 + 0,75 X (49,744 X 2,06)% = 212,22 N.m

T X 0,01* e s
L =—F = 785X 1077 m

Og

212,22 X 0,01

= = 270,34 MPn
FS,s  7,85x107°
FS,, .= 470 _ 1,74
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@# O0AS8 . B-
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ey = ————=00155m

rinty, = 0,0095 m

Meq(est),, =+/(293,95x 2,83)% +0,75 X (381,115 X 2,06)> = 1074,386 N.m
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Iy = Z =3894x107"m
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= 427,66 MPa
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LE =0
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Rgp, =1007N

YF, =0

—1007 — Rgp _ +1055,38 =0

Rcp, =48,4N

R =R
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LF,=0
R_"r.'._}. = Rsr:ﬂ},
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R‘.’;,}. = Rp, X cos65” = 1141,11 X cos65° = 482,25 N

R..= R, X cos65° = —836,69 X cos65° = —353,6 N

#
o
$% $%
— —
L o |
)73
ZMp=0 &U

Rep X 94+ 3536 X 27,5 + 48225X 286 =0
Rgp, = — 250,17N
SF =0
250,17 — Rgp_ — 3536 =10
Rep, = —103,43 N
XF, =0

R R
5D,y SDyy,

~2X Rep, +482,25=0

Rsp,, = Rsp, = 241,13 N
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RSB‘_}‘ = Rsﬂn}‘ = _593,9 N
5-
Rec, = —1834,.85 N
T0% $ ? $ $5
. 183485 x 4 _ 183485 x 4 36 MPa = 36
TNormaise T T g7 T 7% 0,008 “-
5939 X 4 5939 x4
Opicse = = =11 MPa=11——

Txd?  mx0,0082
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% $ | & !I'$ "
#o&

& $
2-Cycle - 30 H.P. 10,000 300634C (704055)
9.02"
4-Cycle - 16 HP 5,500 300637C (704060)
10.15"

300638C (704061)
10.50”
300663C (704096)

11.12"
DRIVE -1” 302424C
DRIVEN - 3/4” 302604C

LOW - 3.95:1 (SHOWN ABOVE)

HIGH - .76:1 LIST___

NET*
OVERALL - 5.20:1 DRIVES : $260.00 $

155.00



DRIVENS: 250.00
150.00
BELTS : 75.00
45.00

*SHIPPING . “PREPAID":UPS, PARCEL POST, OR DHL WORLDWIDE(AIR)

NOTE: NEVER OPERATE A TORQUE CONVERTER WITHOUT A SUITABLEAFETY
SHIELD.

NOTE: DO NOT RUN AN ENGINE EQUIPPED WITH A DRIVE PULLEY | F THE BELT
IS NOT ENGAGED WITH THE DRIVEN PULLEY.

DISTRIBUTED

BY:
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H#$5%S$ ! & ' $ "
B8
& $
2-Cycle - 30 H.P. 10,000 300780C (704054)
9.41”
4-Cycle - 16 HP 5,500 300634C (704055)
10.41"
300637C (704060)
11.50”
300638C (704061)
11.84"
DRIVE - 1" 302424C
LOW - 3.38:1 (SHOWN ABOVE)
HIGH - .54:1 LIST
NET*
OVERALL - 6.26:1 DRIVES : $260.00 $

155.00



DRIVENS: 260.00

155.00
BELTS :  75.00
45.00
*SHIPPING  : "PREPAID"(UPS OR PARCEL POST) OR “FRT.COLLECT"(AIR
FRT).

NOTE: NEVER OPERATE A TORQUE CONVERTER WITHOUT A SUITABLEAFETY
SHIELD.

NOTE: DO NOT RUN AN ENGINE EQUIPPED WITH A DRIVE PULLEY | F THE BELT
IS NOT ENGAGED WITH THE DRIVEN PULLEY.

DISTRIBUTED
BY:
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